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Chapter 7 Review Worksheet #4

SHOW ALL WORK!!! BOX YOUR ANSWERS.

Find the value of x in the following parallelograms:
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Find the value of x in the following trapezoids:
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1swer each question. Show your work and box your answer:
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10. The perimeter of quadrilateral ABCD is 46 inches. 4B = x + 8,

BC=2x+1,CD=3x-6,and DA=4x-7.

Find the length of the shortest side of the quadrilate;{al.%
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11. The diagonals of rectangle ABCD
intersect at E.
AE=x+4and CE=3x-12.
Find BD.
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12. Given trapezoid ABCD with median
EF (labeled ag shown).
Find EF.
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13. In rectangle 4BCD, AE = 3x gy,
EC=2x &1+ 7 and DB=2y + 3x - 1.
Find the values of x and y.
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14. Given square ABCD with diagonals

AC, BD. The m«DEC = 2q #ift and
m«ABC = a+2b. Find @ and 3.
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